P-1I (1+1+1) G /20 (N)
2020

SOCIOLOGY (General)
Paper:I1-A & B
[New Syllabus : New Pattern]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.

Page : 1 of 19



TG 5w & (MCQ) &1 S| HrweiEeil
o SwavTE FTEEE I FAER (Subject) W1 &% G, @ETRR S, ORE

G I e TR T
EAERS — 09 Paper I-A (MCQ) <7 [1-B (Descriptive) |
Subject Code : |1 |A|&|B

Subject Name

o s diran wmfE dngm (MCD) Tes s o) ol are s® wm e
BEa, TUEE (A), (B), (C) 4% (D) T2 (hen =g | AdmwdTs =iw TuEw
0% (A)/ (B)/(C) /(D) s Femlie o9 797 Treo Senea fme

A

Themd — T 1 999 2R wiEe e A T wm s o
| P

o 55 TEEE W @ Fee T m7E |

Page : 2 of 19



Paper Code : I - A

Full Marks : 50 Time : One Hour

Choose the correct answer.

Each question carries 2 marks.

1. “Tripitak™ is the sacred book of which religion?
(A) Hinduism
(B) Islam
(C) Buddhism
(D) Jainism

S| “faf+e” @I a0l +ika 2rg?
&) 2
(B) 2Tl
(C) @
(D) (o

2. Which religion is divided into “Shia” and “Sunni” sects?
(A) Hinduism
(B) Islam
(C) Buddhism
(D) Jainism

NG CRCRECIUE N ERTAC GG (3
(8) f&g
(B) T
(C) A=
(D) c&=
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3. Mahavira is the Tirthankara of Jainism.
(A) Ist

(B) 20th

(C) 24th

(D) 30th

©| MR R CGHLCH
(A) >
(B) =0
(©) 8
(D) wo
4. Who coined the term “Harijan?
(A) Rabindranath Tagore
(B) Ambedkar
(C) Gandhi
(D) Nehru
8 “gfFee” WAl (P YbeT FCA(RCST ?
(A) I I
(B) SHcHm<eIs
(C) e
(D) CTezs
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5. An example of matrilineal family in India is —
(A) Khasi
(B) Gond
(C) Oraon
(D) Santhal

€| OIS Ag-LHF e AR Szl 2eT —
(A) =
(B) e
(C) &g
(D) reele
6. The Dowry Prohibition Act in India was passed in —
(A) 1951
(B) 1961
(©) 1971
(D) 1981

Y| SRCO “HARCAE ST A 7™ —
(A) S5ES
(B) S»uy
(C) s»as
(D) Sabs
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7. Who among the following was the chairman of the drafting committee of the
Indian Constitution?

(A) Mahatma Gandhi
(B) J. L. Nehru

(C) Rabindranath Tagore
(D) B. R. Ambedkar

1| OIToR FRUICTR 2Tl SR AT (< foreme
(A) =91 Si
(B) SrORETeT (LIS
(C) I IFT
(D) . =14, =T

8. Right to Equality is a
(A) Fundamental right
(B) Fundamental duty
(C) Directive principle
(D) None of the above

v | AN SRS 2o @i
(A) (e S
(B) CTfere w6y
(C) friaife
(D) @A T

Page : 6 of 19



9. How many varnas are found in the Indian Society?
(A) 1
(B) 2
© 3
(D) 4

5| SRR e Pl 7o Alenl A2
(A) >
(B) 2
(€) ©
(D) 8
10. No discrimination against anybody in the name of religion is known as —
(A) Communalism
(B) Secularism
(C) Terrorism

(D) Fundamentalism

So | (T A AT 1 FACH AET —
(A) AR
(B) ffastomwel
(C) 7gPRM
(D) Gler—m
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11. Which is the consequence of over-population?
(A) Poverty
(B) Unemployment
(C) Crime
(D) All of the above

SY | ST G el BE —
(A) wikmy
(B) Iy
(C) SR
(D) TR A0

12. The National Policy on Older Persons was enacted in the year —
(A) 1997
(B) 1998
(C) 1999
(D) 2000

53| T WG SIOR IS Ble] T (I T 2
(A) Sod4

B) Sadv
(C) >a55

(D) o000
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13. Which article says that no child below the age of fourteen years shall be
employed to work in any factory or in hazardous employment?

(A) 20
B) 22
(C) 24
(D) 26

SO | (I GFIT I TR 58 IFT AIh (A FIWTF (@Il FIFAET Al el
ool it et <=1 A e

(A) R0
B) 2
(C) =8
(D) 1v
14. The number of individuals per square kilometer is known as —
(A) Population density
(B) Population pressure
(C) Municipality
(D) None of the above

58 | &fo Fof RGBT Neeaa FRACS o1 —
(A) GEg
(B) S=bi7l
(C) 7Jzrel
(D) (FICAME T
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15. Which among the following is a consequence of urban poverty?
(A) Employment
(B) Shum
(C) Literacy
(D) None of the above

se | fNfeiieaf st @I *2ea wiktas werwe ?
(A) TR
(B) 7%
(C) =+l
(D) b
16. For how many days does NREGA provide employment?
(A) 50
B) 75
(C) 90
(D) 100
SY | NREGA FoM(E Gl I3 (M 2
(A) eo
B) ac
(C) »0
(D) s00
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17. One of the problems of old age is —
(A) Communalism
(B) Physical strength
(C) Dementia
(D) Alcoholism

Sa| N G TP =T —
(A) AR
(B) *I&ifFe =&
(C) “gretat=l
(D) “=rifE
18. NLM stands for —
(A) National Labour Movement
(B) National Literacy Mission

(C) National Literacy Movement
(D) National Law Ministry

St | NLM-@ 2Cl I3 267 —
(A) National Labour Movement
(B) National Literacy Mission
(C) National Literacy Movement
(D) National Law Ministry
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19. The type of research which aims at solving an immediate problem is known
as —

(A) Applied research
(B) Historical research
(C) Fundamental research

(D) Content analysis

5o | (T AT SIS (FITA AT AN (e 27 —
(A) TfeTe aItaell
(B) @fezife sitamett
(C) e afca=elt
(D) FCHT Syi=feai
20. An example of graphical representation of data is —
(A) Survey
(B) Tabulation
(C) Report
(D) Pie chart
0 | or2rE oaigal ToirgivdE @b SnigRel 7o —
(A)
(B) ==
(C) elfstame
(D) 3ehe
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21. Questionnaire is a tool of —
(A) Quantitative research
(B) Qualitative research
(C) Historical research

(D) None of the above

| oI e @9 wifenE —
(A) sftiers se
(B) 9o [l
(C) afszifms otz
(D) (@A w7

22. Which type of question calls for a response in the respondent’s own words?
(A) Contingent question
(B) Closed-ended question
(C) Open-ended question
(D) None of the above

23| (P GACE Atel Teamiel OF e ORI Ted Mo SAItae 2
(A) AlCo= oy
B) T=mars o9
(©) T&Urg 20
(D) @R T
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23. Quantitative data is expressed in —
(A) Words
(B) Numbers
(C) Both the above
(D) None of the above

R0 | AAfRIETe O AP T T —
(A) =1
(B) At
(C) ©oItz= qfb
(D) Ttz (HICAIDE =
24. Which of the following is NOT a research method?
(A) Observation
(B) Philosophical
(C) Survey
(D) Historical

38| G W& (PG Al Amhe 22
(A) 7RG
(B) wiffa
(C) =
(D) afszife
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25. A data that has been collected in the past by someone else is known as —
(A) Primary data
(B) Secondary data
(C) Tertiary data
(D) All of the above

3¢ | SO O FCER B SN2Fe ©AF A0 —
(A) el 2
(B) CMel w2y
(C) et o2
(D) TR A0
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P-1I (1+1+1) G /20 (N)
2020

SOCIOLOGY (General)
Paper: 11 - B
[New Syllabus : New Pattern]

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

Group -A
Answer any five questions from the following taking at least one from each
section : 15%x5=75
Section - I
1. Write a short note on Buddhism. 15

2. What do you mean by other backward classes? What are the constitutional

provisions for their development? 5+10
3. Discuss the functional changes of family in India. 15
Section - 11

4. What do you mean by inequality? Discuss the nature of gender inequality in
India. 5+10

5. How would you apply the phrase “unity in diversity” to describe Indian society
and culture? 15

6. Who are child labours? What measures should be taken to resolve the
problems of child labour? 5+10
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10.

I1.

12.

13.

14.

15.

16.

17.

18.

Section - II1

Group-B

. What is social research? What are the different types of social research?

5+10
. Discuss interview as a method of social research. 15
. Write a short note on general rule of report writing in social research. 15

Answer any five questions from the following taking at least one from each

section :

Section - I
What are the principles of Jainism?
Narrate briefly, the features of tribe.

Write a brief note on cultural dimension of Indian Constitution.

Section - I1
What are the differences between Varna and Caste?
What are the major causes of urban poverty in India?

Write the problems of oldage in India.
Section - I11

What is tabulation?
What are the differences between Questionnaire and Schedule?

Write briefly the concept of Bar diagram.
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